3—(1) ZELBEODEENEORELTIL
(ppm)
HET#T 4 BIE R ik this ERHIOEE | FNTEE SH2EE SH3EE SHIEE

Al fF T L ekea sy = 0.003 0.002 0.002 0.003 0.002
g FERETSE =T 0.002 0.002 0.002 0.002 0.002
HHEM P ER RS = 0.002 0.002 0.002 0.002 0.002
T AR iR B =F 0.002 0.002 0.002 0.003 0.002

a1 * 0.003 |— — — —
E3¥Fmh ¥ &P 4] 0.003 0.003 0.002 0.003 0.003
EART&AT = 0.002 0.002 0.002 0.003 0.002
EAR™ FiLNER =F 0.003 0.003 0.003 0.003 0.003
B E/INER = 0.003 0.004 0.003 0.003 0.004
2RKXHFT |2IEERER =T 0.002 0.002 0.002 0.002 0.002
Hfm RS Z Dt 0.003 0.003 0.002 0.002 0.002
E®RH ERSEFER =F 0.002 0.002 0.002 0.002 0.002
B BT HHETRER = 0.003 0.003 0.002 0.002 0.002

3—(2)—HILERDFEEHEDERFELE
(ppm)
iRSES BIE B ki TR30FEE | RMTFEE SI2EE SHEE SI4EE

Al FF F P ER =F 0.002 0.002 0.001 0.002 0.002
iET FERETE =F 0.002 0.002 0.002 0.002 0.002
BHHET FAERRE S =F 0.002 0.003 0.002 0.003 0.003
=l FER RS =F 0.002 0.002 0.002 0.002 0.002
E3¥Fmh ¥ &P 4] 0.003 0.003 0.002 0.003 0.002
EART&AT =F 0.006 0.006 0.004 0.004 0.004
EAR™ FiLNER =F 0.005 0.005 0.005 0.004 0.004
B E/INER =F 0.007 0.009 0.007 0.006 0.006
2RKXHFT |2IEERER =T 0.002 0.002 0.001 0.001 0.002
==kl RS Z Dt 0.002 0.002 0.002 0.002 0.002
E®RH ERESEFFKR =F 0.001 0.002 0.002 0.002 0.002
B BT HHETRER =F 0.003 0.003 0.003 0.003 0.002
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3— () HILERDODFEHENDRFLEIL

(ppm)
T4t 4 BIER FH& ithig TRHB0EE | FMTFEE FH2EE SHBEE SIAEE

A FFTH FIUPER £ 0.007 0.006 0.006 0.006 0.005
thiEmh FiRRETE £ 0.006 0.005 0.005 0.005 0.005
HHE P IRES £ 0.006 0.005 0.004 0.005 0.004
{k{am FEEIRES * 0.005 0.005 0.004 0.005 0.004
FI#Fmh EI#Fm& P 4] 0.006 0.006 0.006 0.006 0.005
EART&AT £ 0.010 0.011 0.010 0.009 0.009

EART FiLhER £ 0.008 0.009 0.009 0.008 0.008
B fE/INERR * 0.009 0.007 0.009 0.008 0.009

BERXEHET |SE&RER £ 0.004 0.004 0.004 0.004 0.003
B#Hhm &R ELD ZDith 0.004 0.004 0.004 0.004 0.004
E®RmH EREFFRK £ 0.005 0.005 0.004 0.004 0.004
H HHT HHEETER * 0.008 0.007 0.007 0.007 0.007

3—(4) TRILERDOERO8%IEDEEL L
(ppm)
HHET4T 4 BIER FH& ithig TRB0EE | FHMTFEE FH2EE SHBEE SIAEE

A FFTH FIUPER £ 0.014 0.017 0.015 0.013 0.012
thiEmh FiRRETE £ 0.012 0.013 0.013 0.012 0.012
HHE P IRES £ 0.012 0.011 0.010 0.009 0.008
k| FEEIRES £ 0.011 0.011 0.009 0.010 0.010
FI#Fmh EI#Fm& P 4] 0.013 0.011 0.012 0.013 0.011
EART&AT £ 0.022 0.023 0.020 0.021 0.018

EART FiLhER £ 0.023 0.021 0.023 0.025 0.021
ERfE/INERR £ 0.026 0.022 0.020 0.022 0.026

BRXEHET |SE&RER £ 0.009 0.007 0.009 0.008 0.008
B#Hhm &R EER ZDith 0.010 0.010 0.011 0.009 0.009
E®RmH EREFFRK £ 0.009 0.013 0.010 0.010 0.009
H HHT HHEETER £ 0.019 0.019 0.017 0.017 0.016
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3—(B)FHEMFIRYMEDFTEEDREFLIL
(mg/m°)
TET#] % BIE B F & Hhisg FRHI0EE | SHTEE SI2EE SHEE SIAEE

Bl FF IR = 0.015 0.012 0.011 0.010 0.014
g™ hERETS F 0.018 0.017 0.018 0.014 0.018
BHHET™ PR iR LS = 0.020 0.017 0.016 0.015 0.016
fkamh AR EL S F 0.014 0.012 0.013 0.012 0.012
FA¥Fmh ¥ ] 0.015 0.012 0.013 0.013 0.014
EART&AT F 0.017 0.014 0.015 0.012 0.012

EARM FBiL/INER = 0.017 0.017 0.016 0.014 0.014
B E/NER F 0.012 0.017 0.019 0.017 0.019

B XEFHH = B R ERT = 0.015 0.013 0.014 0.012 0.012
==kl R ESR Z D1t 0.014 0.012 0.011 0.009 0.010
e ERSEHEFR = 0.014 0.012 0.011 0.010 0.011
B H BT B HETER F 0.019 0.016 0.016 0.015 0.017
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3—(B)RIEFZAFLI VOB 1HEEOETEDEELL

(ppm)
B4 % BIE F Fi& Hhig FRHI0EE | SHTEE FH2EE SHIFEE SHIEE

Al fF T R ekea oy = 0.042 0.036 0.036 0.038 0.036
g™ FERETSE F 0.040 0.037 0.037 0.036 0.036
HHEM Cich:iig i3S = 0.031 0.030 0.032 0.031 0.030
fkamh AR iR B =F 0.032 0.031 0.032 0.035 0.034
E3#Fmh EI#F 4% Al ] 0.035 0.031 0.032 0.033 0.033
EAR™ EART&AT F 0.035 0.031 0.029 0.029 0.029
B XEFHH = B R R = 0.033 0.031 0.034 0.034 0.032
B#Hmm R ESR Z D1t 0.040 0.036 0.037 0.032 0.035
Y ERSEFR = 0.044 0.043 0.036 0.039 0.037
H H T B HETER F 0.036 0.035 0.037 0.035 0.037

3—(7)HIEEAFTIF LD BRBID 1 FRIED0.120pmEFBAT-BHDBEEEL

(ppm)
B4 % BIE F Fi& Hhig FRHI0EE | SHTEE SH2EE SHIEE SHIEE

Al i FHILFER * 0 0 0 0 0
o FERETE * 0 2 0 0 0
BHETT FAERIR S * 0 0 0 0 0
A= EERES) * 0 0 0 0 0
FI¥Fh FI¥F % P 5] 0 0 0 0 0
EARM EAR T * 0 0 0 0 0
SR KXEH SRR ERT * 0 1 0 0 0
B#Hmm R ESR Z D1t 0 1 0 0 0
EE] EREREEFR * 0 0 0 0 0
H H T B HETER F 0 0 0 0 0
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